
Listen to the dictation. Choose the appropriate response.

1. 

A:   He like s  shopping.

B:   It's  a  good  time to  visit  London.

C:   He  had to  start  work.   

2. 

A:  I  was waiting in the corner.

B:  I  weight  the same  as you.

C: Because  it  was  raining.

3.  

A:  The  library  has lots  of  books.

B:  There’s  a  children’s book  store  in  the  shopping’s  center.

C:  I  read books  to  my  children.

4.  

A:  I  didn’t  join  the  club  until December.

B:  Thank you  I’d love to.

C:  These coins  are thinner.

5.

A: Late  last  night.

B: The  slide is presented on  the  screen.

C: The  horse finish  the  race.
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